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2. Rastaviti na činioce: 

 

a) 0,125x
3
  – (x + 1)

3
 

b) (x + 2y)
3 

– (3x – 2y)
3
 

 

 

a) ( )33
1125.0 +− xx  

 ( )33 1)5.0( +− xx      ovo je razlika kubova  

 

) ( )2233 ( babababa ++⋅−=−  

 

 ( )) ( ) ( )( )22 115.025.015.0( ++++⋅+− xxxxxx  

 ( )125.05.025.0)15.0( 222
+++++⋅−− xxxxxxx  

 ( )15.275.1)15.0( 2
++⋅−− xxx  

 

 b )  ( ) ( )33

232 yxyx −−+    ovo je razlika kubova  

 

) ( )2233 ( babababa ++⋅−=−  

 

 ( ) ( )( ) ( ) ( )( ) ( )( )22

232322232 yxyxyxyxyxyx −+−+++⋅−−+  

  

 ( ) ( )222222
4129462344232 yxyxyxyxyxyxyxyxyx +−+−+−+++⋅+−+  

 ( ) ( )22 441324 yxyxxy +−⋅−  
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